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Adding by completing whole tens

Grade 2 Addition Worksheet

Circle the rewritten equation that helps. Find the sum.

52+ 9=

52+9+0=

50+5+4=

61

2)

28+5=

28+3+2=
28+9+1+=
28+2+3=

3)

13+8=

13+7+1
13+9+1
13+5+2

4)

49 + 6 =

49+ 6+5=
49 + 2+ 4 =
49 +1+5=

5)

35+7=

35+6+1=
35+ 4+3=
35+5+2=

6)

87 + 4=

87 +2+2=
87 +3+ 1=
87 +5+ 1=
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Answers

’ 52+9 =

52+9+0+=

:

50+ 5%4=

61

7 28+5=

28+3+2=

33

? 13+8=

i

13+9+1=
13+5+2=

21

4)

49 + 6 =

49+ 6+5=

4G + 4 =

55

7 35+7=

35+6+ 1=

42

7 87+4=

+2+2=
8/+3+1=
8/+5+1=

91
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